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. Mendalian factor (A, is 1.  AUSRRH BR® (A,) SR IS BT &

segregated during : (A) TTATaRAT YoH
(A) Anaphase-I (B) uEaTaRer fRdw
B) Anaphase-II
(B) Anap (C) favgmawen
(C) Diplotene
(D) HzgATaw
(D) Zygotene
2. Bolbiani Rings are found in 2. qifcsd TS IO TS O B
(A) Heterosome (A) TR
(B) Lamp brush chromosome (B) Sugs
C) Autosome
©) ©) arerm
(D) Polytene chromosome
(D) UlIEH HHERIH
3. The division of cytoplasm is 3. DRI G BT P deamd @
known as : (A) IRET fdTer
(A) Mitosis (B) JHGATERT
(B) Synapsis
(ORIEEERRRINN
(C) Cytokinesis
o (D) PRAGTEAR
(D) Karyokinessi
4. During cell division chromosomes 4. IR P & SRM TR D
move towards different poles due BRI T T—3TeT %Fﬁ W Tl o d & 7
to ?
© (A) g
(A) Centriale
(B) ArECIHIfvga
(B) Mitochondria
o (C) WA
(C) Cytokinesis
D) H 355 cYded
(D) Microtubules D) )

Series-D B.Sc. - B050101T/ 565 Page - 3



5. Synapsis occurs at : 5. Rfoas org o 8

(A) Laptotene (A) TRIATaRT
(B) Zygotene (B) IFRIATRT
(C) Panchytene
(C) YRR
(D) Diplotene
(D) fevgamaen
6.  During meiosis the chromosomes 6. 3R oM & IRE o1 A @
number is : T Bldl
(A) Reduced to half (A) THR M
(B) Remains same (B)
(C) Reduced to one fourth
(€) TP g
(D) Becomes double
(D) S
7. Mitosis occur in : 7. Wﬂ?ﬁ T BT ©
(A) Vegetative cells (A) <fed PIRGRI A
(B) Reproductive cells (B) W R &
(C) Mature cells © Sz PR
(D) All of the above ,
(D) SWEd W H
8. Which phase comes in between the 8. DIRNET P B G, U0 G, SUEwr ®
G, and G, phase of cell cycle ? 72 DI 47 SuTaRer ol § 2
(A) m-phase

(A) m- SUEReT
(B) Go-phase (B) Go- SUTEI
(C) S-phase

(C) S- Jura
(D) Interphase
(D) fasiHTawen
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0. Spindle apparatus is formed during 9. RUSeT IqPHRT Wﬂj\?ﬁﬂ I DT fbs

which stage of mitosis ? I H g1 & 7
(A) Prophase

(A) qarawr
(B) Metaphase

(B) HedTawell
(C) Anaphase

(C) uZdmaRe
(D) Telophase

(D) <IyIavIT

10. Condensation of chromosomes 10. ¥ P G+ 8ldl § ¢

occur in : (A) Yo c@a—\rw
(A) Prophase-I B) fd Wm
(B) Prophase-II

(C) UZeraRel
(C) Anaphase

(D) WEUTaReAT

(D) Metaphase

11.  If the DNA strand has nitrogenous 11. IR TH Slo THo To SRIAH ¥

base sequence ATTGCC, the LS &R & %9 ATTGCC &

mRNA will have : (A) ATTGCA

(A) ATTGCA (B) UGGACC

(B) UGGACC ©) UAACGG

(C) UAACGG D) ATCGCC

(D) ATCGCC

Series-D B.Sc. - B050101T/ 565 Page - 5



12.  The type of Coiling in DNA is: 12. S0 To Yo & KIS Il YIK &

(A) Zig-Zag NBEEIR]
(B) Left-handed (B) T
(C) Opposit ©) A
(D) Right handed D) f
13.  DNA is mainly located inside : 13.  Slo THo To LI q 3fex Raf grar
(A) Nucleolus g
(B) Nucleus (A) SfzH B
(C) Mitochondria ®) RN
(D) Mitochondria and nucleus
(C) I @

(D) WIECIBISAT T4 B &

14. Double helix structure of DNA 14.  Slo Tdo To @l 3? O RO ol Tl'sf

was given by : off gn:
(A) Levene (A) R
(B) Miescher B) fw
(C) Hammersten

(C) TR

(D) Watson and Crick
(D) dqrcE Td fohd

15. “One gene one enzyme” theory 15. 'U% WM Ud Uraigd” Rigid ufauried

was propounded by : fhaT T o

(A) Beadle and Tatum (A) 9 T e BN
(B) H. G. Khurana
(B) Tdo Sllo R gIRT
(C) Chargaff

(C) IR gRI

(D) Hdfe gRT

(D) Franklin
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16. DNA is not found in : 16.  Slo Tdo To &I YT Il &
(A) Chromatin (A) HrafeT §
(B) Nucleus (B) Fd
C) Nucleol :
(C) Nucleolus ©) SR 3
(D) Cytoplasm _
(D) BRI g |
17. Thymineisa: 17.  oafid 1% B
(A) Enzyme (A) ToTeH
(B) Vitamin (B) fere
C) Pyrimidine
(© by © PR
(D) Purine
(D) T
18.  Chromosomes are mode up of  18.  TURHA qﬁa‘aﬁ?ﬂﬁ ¥ B g o
nucleosomes which consist of : RIS
(A) DNA (A) o To To
B) Histones  wrapped  over
(B) pp (B) e (8 & edlite A i
octomeric core of nucleic
acid
C) f&em
(C) Histone ©
(D) DNA wrapped over (D) fewe b TRARE IR R ferme
octomeric core of histone Slo To To
19.  The nucleus contains : 19. ®<d H BT :
(A) Mitochondria ( A) m—qﬂﬁm
(B) Golgi apparatus (B) Teoliam
C) Chromosomes
© © FiRim
(D) Lysosomes
(D) IEHEm
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20.  Polysome is a chain of : 20. UM U SIRgel ®

(A) Lysosome (A) RIERIRIGE)
(B) Oxysome (B) i
C) Ribosome

(©) © NI
(D) Pihosome
(D) o= @

21.  Fluid mosaic model of bio- 21, AT fErecll @ 59 ANl Hied [ddd
membrane structure  was ST wedTfad fobar T o ?
proposed by : (A) RIR 1q e
(A) Singer and Nicolson ®B) i
(B) Robertson

(C) wisT
(C) Schleiden

(D) ¥
(D) Schwann

22.  Who observed mitochondria in  22. @i @ Rgqg URR # wEIHitgdr

striated muscle cell of insect ? fpa oxgr ?
(A) Kolliker (A) Sian o
B) Rhodin
(B) ®)
(C) Camillo Golgi
() dfifer e
(D) Perner
(D) TR

23.  “The master mind” of the cell is : 23, PIAD BT IRCHAES & :
(A) Protoplast (A) TeoIRE
(B) Nucleolus (B) ShEa
C) Nucleus
(©) ©) @

(D) Plastid
(D) wiRee
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24.  Term basal body is associated with ~ 24. I ‘99 drel fhas faa™ ¥ wafda
the development of : g7
(A) Cilia and flagella (A) Riferr va TSR
(B) Cell plate ®) R o
(C) Phragmoplast
(C) WHIRT
(D) Kinetochore
(D) PIEIIDR
25. The filaments associated  25.  fiferar iR FHEMf@ET A \_{ﬁ g D
constituted by : SR Tfed B 2
(A) Microtubules (A) G Al g/
(B) Microfilaments L.
(B) A dgelt g
(C) Micro fibrils .
(C) A gTi gRI
(D) Microvilli
(D) A e g
26.  Pattern of orginisation of cilia and ~ 26.  fufeRyT UG HIMWAAT & FIST BT Yfawy
flagella is : 2
(A) 9+0 (A) 9+0
(B) 9+2 (B) 9+2
(€ 9+1 C) 9+1
(D) 9+3 (D) 9+3
27.  Function of centriole is : 27.  fwad & o1 R
(A) Formation of spindle fibres (A) Fl‘cﬁ?lﬂ CARGLII
(B) Formation of cell division (B) ST e
C) Formation of nucleolus
© (C) B T M
(D) Formation of cell plate
(D) BRI &I Ao
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28.  The 805 ribosomes are present in : 28. 805 39NIM SUReI BT & :
(A) Eucaryotic cells (A) '{E,ﬁﬁmﬁ_@ GAIEICAR]
(B) Procaryotic cells (B) TORIeH PIR@ &
(C) Bacterial cells ©) ﬁw 2 TR §

D) Cyanobacterial cells :
(D) Cy D) Mo 2 R &

29. A Picture of a person’s 29. fhu @feq @ 3 TNH B 98 T forey
chromosomes which are numbered PR IR Aifhd fbar ST &,
according to size is called ? HEATT &

(A) Karyotype (A) S
(B) Syndrome _
: B) Rigm
(C) Chromatin
(D) Finger print ©
D) frr e

30. If a boy has sexual characters of  30. IS fdll e # dsdl & oifid oferor
that of a girl, its genotype would g ST SIFICIEy B
be : (A) XYY
(A) XYY B) XO
(B) XO () XXY
(C) XXY D) XXX
(D) XXX

3. In mitochondria, enzyme 31. HAgCI@IdT  H  UOgH  gclHM
cytochrome oxidase is present in : eSS UraT S ©
(A) Outer membrane (A) 9T Rreeh 3§

B) Perimitochondrial space :
®) P (B) WWEea~gad W
(C) Inner membrane _
(C) ¥ fareen 4
(D) Matrix
(D) Hfgaw H
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32.  F,Particles/oxysome are present 32. F, ®U/ 3MRINM I 9 & :
in: (A) 3T Ugdl Sffera |
(A) Endoplasmic reticulum (B) AR 3
(B) Chloroplast :
(C) eI
(C) Mitochondria _
(D) TeolldrT H
(D) Golgi complex
33. Inside the cell, H,0, clearance is 33, PR & WiR H,0, & FM&R D
brought about by : ERT BT g ?
(A) Peroxysome with enzyme (A) RATFIT & T TorgH T
amino oxides .
(B) Glyoxisome with enzyme _ .
(B) Uolgd el @& W
catalase
. RNIES! GRReIts
(C) Perxysome with the enzyme
catalase (C) TaIgd @l & 9
(D) Glyoxysome with enzyme TR
isocitrate lyase (D) TUolgH MeARIGT agysl & <l
ERIERIGHINIE)
34.  Which organelle helps in the 34. {99 & SRMH 3 H NEAL| T 99 |
Penetration of sperm in to the egg P9 T 3FTH HeC &l & 7
during fertilization ? (A) TR
(A) Peroxysome ®) :
(B) Nucleus
(C) redmm
(C) Lysosome
D H sa h r:$2
(D) Mitochondria D)
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35.  PH of lysosome is : 35.  argaad @ Yo Tdo HH BT B
(A) Acidic (A) I
(B) Basic (B) &R
(C) Neutral ©) >
D) Depends on the cell type
) (D) DR & JHR T TR
36.  Which of the following organelle 36. f=fafed & 9 @9 $If¥@n
controls the intracellular digestion gEglfdlicd UwilgH @ ®Weg 9
of macromolecules taking the help ﬁm & 3N PRER TR @
of hydrolytic enzyme ? A 8§92
(A) Plastid
(A) s
(B) Peroxysome
(C) Lysosome B) W
(D) Actin ©) © SRR
(D) e
37. The process of digesting parts of  37. ®I¥GI & U4 9FT B T B fohar
own cell is known as : FHEA B
(A) Autophagy (A) T
(B) Autopsy ®) W e
(C) Polyphagy
_ , (C) g
(D) Pinocytosis
(D) foramgeiia
38.  The suicide Bags of cell is : 38, PIRMGI B AT BT el B
(A) Ribosomes (A) TzENM
(B) Lysosomes (B) SISt
C) Persoxysomes
© 4 (C) TRIMTFIH
(D) Desmosome
(D) SEEM
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39. Lysosomes contain : 39. gHdNM ¥ BT
(A) Proteins (A) iG]
(B) Lipids (B) Arfre
(C) Hydrolytic enzymes
(C) eEgicfed Tl
(D) Carbohydrates
(D) PHEEEST
40. Which of the following cell 40. f=foRad & ¥ &N HIRGE Haol
organelle is found only in animal S| PIRGET | 9T ST © °
cells ? (A) A
A) Centrioles
&) (B) Slo THo To
(B) DNA
: (C) e
(C) Ribosomes
(D) Lysosomes (D) E
41.  The Golgi apparatus contains : 41.  Teoldr SUSRY H BT ©
(A) DNA (A) Slo To To
(B) RNA (B) &Ro To To
C) Phospholipid, Proteins, .
©) pholip © T .
enzymes and vitamin C
faeTae 4
(D) Protein- lipid- protein
(D) Her-ferfte-gici
42.  Dictyosomes are : 42.  fSfecaram g
(A) Class of ribosomes (A) SN BT T gl
(B) Place of flogellar organelles (B) HECrare S ] Te
C) Respiratory pigment
(C) Respiratory pig (C) @ Ivd
(D) Golgi body (of plant cells)
(D) UIGY BIRIGT Melldr
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43.  The endoskeleton of cell is made  43.  ®IABI BT A=< bl g1 BT ©
up of : (A) DIR@ Al &1
(B) Mitochondria ©) R T Bl
C) Cytoplasm
(€ Cytop o (D) 37 Usdl SATfeldl bl
(D) Endoplasmic reticulum
44. Important site for formation of 44. TARHIUIEA IR IS FHT &
glycoproteins and glycolipids is : foru Hﬁg}ﬁ A ¢
(A) Vacuole (A) o=
(B) Lysosome (B) .
(C) Golgi apparatus
. (C) TeslIdm™
(D) Plastid
(D) RS
45.  The supporting frame work of a  45. Ud PIRAI & TSRS Q< H 8Id © :
cell consists of : (A) A qferepTa
(A) Microtubules (B) &
(B) Micro filaments : :
(©) (A) W (B) T
(C) Both (A) and (B) _ _
(D) SWIE ¥ IS el
(D) None of these
46. Endoplasmic Reticulum (ER) is  46. TSNS %I(Ecgw-l faery w9
specially cell developed in cell AfdeRa & fer o fhar /Y o
activity engaged in : o 2
A) Protein synthesis :
) 4 (A) U Heelyor
(B) Lipid synthesis _
B) fafre weemw
(C) Nucleotide synthesis
o =i -
(D) Secretory functions ©
(D) wr&ar erl
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47.  Which of the following are 47. f{yHfoiRad # 9 DF A UoRacH & ?
prokaryotes ? (A) HHa!
(A) Fungi (B) R (o))
(B) Viruses
© Bacter (€) FiRar ()
acteria
(D) et
(D) Protozans
48. Most abundant Lipid in cell — 48. @I el #§ wew wgR A= H
membrane is : fofue 2 -
(A) Phospholipid (A) BREIRIE
(B) Starch (B) —
(C) Oil
. (©)
(D) Sulpholipid
(D) Fewifcifie
49.  Which of the following structures ~ 49. fA=folRad & & o9 & W1 WliaH
controls the transport the material DIRAET & <X U4 dY A b
in to and out of living cells ? gRae &1 FEla axd) & ?
(A) Centrosome (A) -
B) Cell membrane
(B) ® @R et
(C) Cell wall -
(D) Ribosome ©
(D) TEdT
50. Who proposed “fluid mosaic  50. TITHT f3reell BT g9 Aol Aled fha
model” for plasma membrane ? gfquifed foar o ?
(A) C. Carmer and C Nageli (A) o TR T RIS
B) Singer and Nicholson : :
(B) Sing (B) RIR Td fMalere
(C) Denielli and Davson _
(C) MUl vd Saw
(D) I D. Robertson
(D) 3MEo To VT
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51.  Polydactyly is caused due to : 51.  Ulclredersell B BRYT BT 2
(A) Dominant inheritance (A) U9 GUIRTT
(B) Lethal recessive inheritance (B) ©IE NPT dSIRTa
(C) Recessive inheritance ©) .
D) None of the these : :
® (D) TR § & B 7
52.  Example of recessive inherited 52.  JUYIIT IYRTT BT SSTENT & ¢
disorder is : (A) VfediF oA
(A) Albinism (B) TTSARN
(B) Tylosis ©) A A
(C) Polydactyly
, (D) W= R
(D) Marfan’s syndrome
53. Aspergillosis is reconized in 53.  SAO@ H TERRTON @ SuRerd @
tissues by the presence of : (A) WCTHHICH IR J
(A) Metachromatic granules (B) w A
(B) Psuedohyphae ©) - 5 X
C) Septate hyphae
(©) Sep P (D) Haford BIRTH A
(D) Budding cell s
54.  ‘Grand old man of intestine’ is the 54.  "3ifai @1 &l 9g 3 M M §
common name of : (A) STSPAIT T
(A) Trichomonas (B) S o
(B) Giardia
(C)  dTeTdTeRT T
(C) Volvox
_ (D) FTgCyferdT &I
(D) Noctiluca
55.  Secondary host of Tuenia is : 55.  Af¥ar &1 fgdae wo g
(A) Pig (A) FR
(B) Man (B)
C) Snail
© (C) &
(D) Sheep :
(D) #3
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56. Infective stage of Ascaris for new 56. T NG H QHRE B GHAT Bl 3raRel
host : 2l B
(A) Istage juvenile (A) Wﬁﬁ @ 1 3R]
(B) Embryonated egg (B) Q{Uﬁ'q TR
(C) II stage juvenile ¥
(D) Larva after one month © L e
(D) 1 HIE §1E @I ol
57.  Wuchereria bancrofti 1S 57. @W GI'M)UrCIsc herdl @
transmitted by : (A) THIthelel #EaR gRI
(A) Anopheles mosquito (B) g TR R
(B) Sand fly (©) o Fo TR NI
(C) Tse-tse fly
(D) Culex mosquito D) W T En
58.  Trypanosomiasis is transmitted by ~ 58. feU0RIMIRRT feUH™r g™ =ar &
Trypanosoma in man is : RRdl SR e quﬁ[ 2
(A) House fly (A) Eﬁ(—i )
(B) Tse -tse fly B) Ho o TR
(C) Fruit fly ©) e T
(D) May fly N
(D) H Wl
59. Malaria a common disease 59.  HaIRaT q? faeq # g arell 99K © I
worldwide is caused by a : 2l B
(A) Bacterium (A) Gﬂ_ﬂ”ﬂ A
(B) Virus (B) ﬁw 3
(C) Protozoa © AT
(D) Helminths
(D) zferei &
60. Chloroquine is used for the 60. TARIEH B FANT—— STAR & oy
treatment of : e T &
(A) Malaria (A) HorRam
(B) Tetanus (B) o
(C) Cancer :
(D) AIDS © T
(D) Ted
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61.  Meningitis refers to : 61. AR Hefid #var 2
(A) Inflammation of the brain (A) wRTD Bl o
(B) Blockage in nerves (B) TRI@T & BP1e
(C) Both (A) and (B) : :
(©) (A) W (B) T
(D) None of the these _ _
(D) SWIE ¥ IS T8l
62.  Tuberculosis is caused by : 62. TURCH B B BRI ¢
(A) Bacterium (A) \—,ﬂw
(B) Virus (B) ﬁm
C) Protozoa
(C) Protoz © e
(D) Malnutrition
(D)
63.  Which of the following is a pair of ~ 63. f=faiRad § 9 @ T Wil fay U
viral diseases ? ST T
(A) Ringworm, AIDS (A) Rrad Tew
(B) Dysentery, Common cold
(B) e, G
(C) AIDS, SARS-Cov-2
(C) TUsH, SARS-Cov-2
(D) Typhoid, Tuberculosis
(D) TIIBITS, qUeH
64. HIV can spread through : 64.  Tdo 350 §0 oo T TH W bd
(A) Sharing water bl 2
(B) Breathing (A) T =T FE
C) Sharing needles
© 8 (B) WM ¥
(D) Kissing
(C) 9g WM &R ¥
(D) T q
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65. AIDSdayis: 65. Ued fead BT 8 5
(A) Junel (A) 1S
(B) December 1 (B) 1 R
(C) May 1 © 1 o
(D) December 20 D) 10 R
66.  Phosphorus is present in : 66.  HRHRY URIT I B
(A) Protein (A) NG
(B) DNA B) o To To
(©) RNA (C) 3o To To #
(D) Both DNA and RNA D) So o To T HRo THo To 2
i
67. Which disease is genetically  67. @ 9T I foiT gl § ?
linked? (A) EEIIfer
(A) Hemophilia (B) e
(B) Dysentery © .
(C) Plague ) .
(D) Tuberculosis
68. A normal woman, whose father 68. MM e foras foar quiv g @
was colour-blind is married to a o 9= 7oy A BN W S9b LEl
normal man. The sons would be : 2hY
(A) All normal A) T T
(B) All colour blind
(B) I qurfer
(C) 75% colour blind
(D) 50% colour blind © 75% R
(D) 50% qUTi=T
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69.  Sex linked characters are : 69.  foITT \EeT T Tl
(A) Dominant (A) T
(B) Recessive (B) )
(C) Lethal
(C) Hrd®
(D) Not inherited _
(D) JHTIaTRIH
70.  Drosophila flies with one half of  70. SRIftheT AR & IRR BT AR 4T R
the bOdy male and other half 'Qa' 3T YIRT ATeT EbA[ gl ol %‘ :
female is referred to as : (A) TSI
(A) Gyanadromorph ®B) At
(B) Hermaphrodite
© ATl
(C) Super female "
D) Few
(D) Intersex D)
71.  The loss of chromosomal segment ~ 71.  TUR{A Qs # g ekl @
1s due to : ( A) W gNT
(A) Polyploidy (B) @ g
(B) Detection
(C) fevmgfr g
(C) Duplication
. (D) FfdHIeRoT R
(D) Inversion
72.  Number of chromosomes in 72. TR ﬁﬁﬁ | TTRFﬁ B FAT BN B
turner’s syndrome is : (A) 45
(A) 45 (B) 43
B) 43
®) (C) 44
(C) 44
(D) 42
(D) 42
Series-D B.Sc. - B050101T/ 565 Page - 20



73.  The number of chromosomes in  73. SRANISM # ORI &I WA Bl &
Down’s syndrome is : (A) 234 ™ ¥ U BH = 45
(A) 23" pair with one less = 45 B) 21 7 T & U I = 47
(B) 21* pair with one more = 47 ©) 17 § o ¥ T R = 47
(C) 17" pair with one more = 47 _ _
. (D) 18 4 I H Uh PH = 45
(D) 18" pair with one less =45
74.  Which of the following disorder is 74,  fy=fafed § 9 o9 W fdeR CHﬂEI' G
not hereditary ? Twre?
(A) Haemophilia (A) SAIfelan
(B) Cataract (B) HS e
(C) Sickle-cell-anemia
C) Rrpa—det—uHIHan
(D) Colour blindness (©)
(D) QUi
75.  Cytoplasmic inheritance is a  75.  ®IfdT gl qUNMT ..o LN R ¥
consequence of presence of gene S @ SuRerd @1 gl &
n and (A) TZINE U4 FARIRES
(A) Ribosome and chloroplast :
(B) °IIgANM Uq NXT9dM
(B) Lysosome and ribosome - _
(C) HIZCIRI=gIT Td FeIRICWIRC
(C) Mitochondria and chloroplast
D N - :
(D) Endoplasmic reticulum and D) ° &
mitochondria K E
76.  Incomplete dominance is shown 76. BHTgUT TfaeT yefdia B B
by : (A) WA I H
(A) Primrose (B) R 3
B) Mirabilis :
®) (C) eferveerd o
(C) Helianthus _
_ (D) e 3T H
(D) China rose
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77.  Kappa particles indicate : 77. W GV AW B
(A) Nuclear inheritance (A) D= qITI
(B) Cytoplasmic inheritance (B) P darIR
(C) Mutation ©) Red
(D) Nucleo-cytoplasmic _
o (D) PP PIRIPIG TR
inheritance
78. Which  of the following 78. fi=ifofad & & &9 A1 el dved &
characteristics of pea plants was AN & Gl & YU H YT T8l § ?
not used by Mendel in his (A) 8 BT T
experiments ?
(B) dIT @I i
(A) Seed colour
(C) el &l oy
(B) Seed shape ) Rerfy
(C) Pod length (D) W
(D) Flowers position
79.  Which of the following is 79. fi=folRad & & ded & T N P9
genotypic ratio of Mendel’s CIRSIGIL 3T T g7
monohybrid cross ? (A) 1:3
A) 1:3 (B) 3:1
(B) 3:1 ©) 1:2:1
€ 1:2:1 MD) 1:1:1:2
D) 1:1:1:2
80.  Various forms of a gene are called: 80. TU®H oA @ I~ wul Bl HET o1 §
(A) Genotype (A) WHIeEY
(B) Phenotype (B) BiFergy
(C) Gametes
(€) g™
(D) Alleles
(D) FHfda
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81.  Test cross is used to : 81. T B H TN Il &
(A) Check heterozygosity of F, (A) F, G ﬁqﬁgﬂryﬂ FIBSICR:|
generation (B) F, 01 Rwagereh & oifa §
B) Check het ity of F o N
(B) Check heterozygosity of F (C) WA SRR &l Sirg #
generation o\
_ (D) I $ G4 H
(C) Check independent
assortment
(D) Check segregation
82.  The term ‘allomorphic’ implies : 82. W grHAIdicHd W AT B :
(A) Any two character (A) D13 Tl AL
(B) A pair of contrasting (B) Ruda zem e TR
haract A~
charactet (C) TeTiTHE T oleTv]
(C) Sex linked character _
_ . (D) M IOl Tl SIS
(D) A pair of non-contrasting
character
83. A character which is expressed in ~ 83. U® qUf /0T W GHR H AU I
hybrid 1s called : h¥d] %, hafldl é :
(A) Dominant (A) T
(B) Recessive (B) A
(C) Co-dominant
(C) rEyMTd!
(D) None of these _ _
(D) T 9 FIE T
84.  The first great ‘genetist’ was : 84.  TH JUN & HEH Cﬂjﬁl' 3D aa\ g
(A) Engler (A) TR
(B) Mendel (B) |
(C) Schwann
(C) @+
(D) Miller
(D) fAer
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85.  Which of following is not a G 85. fi=fiRad & & &4 G WA {'{ﬁﬂﬁ
protein coupled receptor ? e e g ?
(A) Glycine receptor (A) TS T
(B) Adrenergic receptor ®) Ri T8
(C) Glutamate receptor
(C) Te[eHe el
(D) Muscarinic receptor
(D) HAMIGHD ITEl
86.  Insulin receptor is an example of : 86. s RERIERCISHEUE
(A) Steroid receptors (A) WRES W& &
(B) Serpentine receptors (B) s e @l
C) Adhesion receptors
© P (C) TS TR @l
(D) Receptor enzymes
(D) R¥eR A
87.  Chemically receptors are : 87. AP ®Y W Roexd B
(A) Lipid (A) fofrs
(B) Carbohydrates (B) CAEIRESH
(C) Nucleic acid
O 3 Feld 3FFel
(D) Proteins
(D) Wi
88.  Blood group ‘O’ contains which 88. Xad WYg ‘O’ ¥ @ 9 TCIo Bl
antigen ? 27
(A) O (A) O
(B) B B) B
(C) AB (C) AB
(D) None of these (D) SR F Y B T
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89. The active cell death process is  89.  WfshaT IR 7Y UfchaT BB ©
called : (A) TR
(A) Necrosis (B) Rroomr
(B) Lysis ©) -
(C) Apoptosis
D) del
(D) Senescence D) &
90. Which cell can not be killed 90. N I BIRMGT B VAR gRT ol
apoptosis ? G f&ar S aedr g ?
(A) Immune cells (A) TR PR
B) Cells with DNA damage
®) s (B) o THo To &RVT & W BIFAH
(C) Cancer cells _
(C) DR B
(D) A cell infected with viruses
(D) fawry & Wl Bt
91. This cell organelle participates 91. IE PIRNBT S PIRGT § Afhy w9
actively in animal apoptosis : I 9T o ©
(A) Nucleus (A) et
B) Vacuoles
(B) @) o
(C) Mitochondria
(C) gl
(D) Chloroplast
(D) FARTAEE
92.  This is concerned with the intrinsic ~ 92. I8 VACINM & AdRd T ¥ Hafdd
pathway of apoptosis : 2
(A) Cytochrome d (A) B d
(B) Cytochrome ¢
(B) WSS c
(C) Cytochrome b
(C) WM b
(D) Cytochrome a
(D) WHECPH a
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93.  This is an extracellular messenger 93. Jg HIR@E B AT b Uh 9|
of apoptosis : IR
(A) Tumor necrosis factor (A) TTR IR FRS
(B) Serine (B) 5
(C) Translation inhalator
: (C)  IrgfertianRTT eI
(D) Ribozyme
(D) T=dloileH
94. Crossing over is advantageous 94. ‘HIRFT MR TS & Hifd I
because it brings about : RIGIE
(A) Variation (A) Rt
(B) Linkage (B)
(C) Inbreeding _
. (C) SMIRG T
(D) Stability
(D) Rerar
95.  The complex formed by a pair of  95. ™ PNA & J¥H & Howdwt a7
synapsed homologues gﬁqﬁ TS @ Fed
chromosomes is called : (A) T
(A) Axoneme (B) e
(B) Equatorial plate
: (C) PIEIIDR
(C) Kinetochore _
(D) Bivalent (D)
96. How ,many mitotic divisions are 96. UH BIRIGT A 128 BIBT g9 & forv
needed for a single cell to make fhae AR ot @) aeydar & ?
128 cells ? (A) 7
A) 7
) (B) 14
(B) 14
(C) 28
(C) 28
D) 32
(D) 32 (D)
Series-D B.Sc. - B050101T/ 565 Page - 26



97. Regarding the sequence of cell 97. PIRGT IF B S RER @ e H BIF Al
cycle, which one is correct ? Fwre?

(A) Gq,Gz,Sand m (A) Gy, G,,Sand m

(B) S,G;,G, and m (B) S,G;,G, andm

(C) G,S,G; andm (C) Gy,S,G,and m

(D) G,,S5,G; and m (D) G,,S,G; and m

98. How many daughter cells are 98. ?ﬂ%ﬁ?ﬁ fovrom  gR1 fdael  Hafd

produced by meiosis ? PRFER T & ?
A) 1 (A) 1
(B) 2 ®B) 2
€ 3

€ 3
D) 4

(D) 4

99. Chiasmata formation takes place 99.  foharter &1 AT SR BT ©

during : (A) C@‘cﬁ’{’ﬂ—l
(A) Prophase I (B) HEIGRL-I
(B) Metaphase I

(C) UZaTaRefl-I
(C) Anaphase |

(D) hfawer-1

(D) Telophase I
100. The RNA and protein synthesis 100. 3Ro THo To UG WA HITYT BIT &

occur in : (A) m- Bl §
(A) m phase (B) S- Boy 3

(B) S phase ©) Gy S
(C) G phase D) Gy ot 3

(D) G, phase

EE R
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There is no negative marking.
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